
EEI-6561/6562/6563
V1.5.23.23



30

Wait!

PAGE 2 0F 4

1

2

Chair Body

Back Legs

x1

x2

1

2

x1

x4

Allen Wrench M8D

x4Bolt M8 x 50mm           A

C

x4

Flat Washer M8       

B Spring Washer M8          

2



Step 2

     

     

     

     

     

1

2

Chair Body

Back Legs

x1

x2

A x4Bolt M8 x 50mm        

Spring Washer M8B x4

PAGE 3 0F 4

C

D

B A

Flat Washer M8C x4

Allen Wrench M8D x1

2

1

22

NOTE : To assist with leveling the chair, place 
a heavy object or have an adult sit on the Back 
Legs (2) to pressure the chair for leveling and 
fully tighten all bolts with Allen Wrench (D) to 
secure all legs.

D



Your chair is complete and ready to enjoy.

PAGE 4 0F 4


	Page 1
	Page 2
	Page 3
	Page 4

